Erbijsommen tot 100 met drie decimalen

Rekenen - Bewerkingen

Oefening 1
29,577 + ____ = 50,494 1 11505 + ____ = 91,347
Oefening 2
52,894 + ____ = 61,404 1 31336 + ____ = 84,411
Oefening 3
22,561 + ____ = 48478 1 27,128 + ____ = 91,805
Oefening 4
57,364 + ____ = 86171 i 4984 + ____ = 42,610
Oefening 5
1,795 + ____ = 14,087 1 37,835 + ____ = 54,439
Oefening 6
2,254  + = 97,304 1 1314 + = 15,367
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Erbijsommen tot 100 met drie decimalen | ANTWOORDEN

Rekenen - Bewerkingen

Oefening 1

29,577 + 20,917 = 50,494 i 11,505 + 79,842 = 91,347
Oefening 2

52,894 + 8,510 = 61,404 E 31,336 + 53,075 = 84,411
Oefening 3

22,561 + 25,917 = 48,478 E 27,128 + 64,677 = 91,805
Oefening 4

57,364 + 28,807 = 86,171 i 4984 + 37,626 = 42,610
Oefening 5

1,795 + 12,292 = 14,087 i 37,835 + 16,604 = 54,439
Oefening 6

2,254 + 95,050 = 97,304 E 1,314 + 14,053 = 15,367
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